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Immediately after getting the Booklet read the instructions carefully,
mentioned on the front and back page of the Question Booklet and do not
open the seal given on the right-hand side, unless asked by the Invigilator.

Write your Roll No., Answer-Sheet No. in the specified places given above
and do your signature.

Make all entries in the OMR Answer-Sheet as per the given instructions,
otherwise Answer-Sheet will not be evaluated.

After opening the seal, ensure that the Question Booklet tains
total no. of pages as mentioned above and printing of all the 100
q! is prop If any di P y is found, inform the
Invigilator within 15 minutes and get the correct Question Booklet.

For each question in the Question Booklet, choose the correct/most
appropriate option out of four options given below the question as answer
and darken the circle provided against that option in the OMR
Answer-Sheet, bearing the same serial number of the question. Darken the
circle only with Black or Blue balipoint pen.
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Darken the circle of correct answer properly, otherwise answers will not be
evaluated. The candidate will be fully responsible for it.

There are 100 objective-type questions in this Question Booklet.
1 mark is allotted for each correct answer related to GK and 2 marks is
allotted for each correct answer related to subject. ¥ mark will be
deducted for each wrong answer, —— - - - S

Do not write anything anywhere in the Question Booklet and the
Answer-Sheet except making entries in the specified places, otherwise
OMR Answer-Sheet will not be evaluated.

After completion of the examination, only OMR Answer- Sheet and cover
page of Question Booklet are to be handed over to the Invigilator. Carbon
copy of the Answer-Sheet and Question Booklet may be taken away by the
examinee.

This Question Booklet consists of the following Parts :
FIRST PART : General Knowledge

SECOND PART

Section—II Q. Nos. 51-100
{1) Anatomy of Eyeball—Diagram, Landmark and Qutline, (2) Examina-
tion of eye, Visual acuity, Distant Vision, Near Vision Examination of
Anterior segment, (3) Conjunctiva, (4} Cornea, (5} Eye Donation and Eye
Banking, (6) Lacrimal Apparatus, (7) Lens, (8) Refractive error,
Types—Myopic, Hypermetropic, Astignatism, (9) Sohool Health and
Screening

Section—III Q. Nos. 51-100
(1) Physics (10+2 level), (2) Biology (10+2 level}-—Specially human,
(3) Hospital practice and care of the patient, {4) Equipment of radio
diagnostic radiography, (5} Radio graphic technique, (6} Knowledge of
equipment for diagnostic radiography, (7) Must be conversant with the
following radiographic photography, (8) Fluorescent screen photo-
graphy, (9) Equipment for miniature radiography, (10} Cystography
Section—IV Q. Nos. 51-100
{1) Sound and Hearing, (2} Anatomy and Physiology of ear, (3) Hearing
loss, {4} Evaluation of hearing loss, (5) Early identificationa and
prevention

Q. Nos. 1-50

First Part is compulsory. Choose any one from Second Part
(Sections—TII, 111, IV) related your subject.

In case of any ambiguity in Hindi version, the English version shall be
considered authentic.
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FIRST PART / 9&cl 9

1. Mudumalai Tiger Reserve is located 1. ggaems 9™ (TER) fod ffafea & @
in which of the following States? __ﬁga'{mﬁf{?em%?
(A) Kerala (A) &
(B) Karnataka (B) Fie®
(C) Tamil Nadu (C) aﬁra:ng
(D) Telangana (D) AT
2. Recently Akshya Venkatesh got . T @ T IFT AR HI HH-UT GEHR
which of the following awards? firen? '
(A) Fields Medal in Computer (A) Wmﬁtﬁa{qﬂgﬁ
Science
(B) v # hiegH ded
(B) Fields Medal in Mathematics ;
» - < (C) YR |IEH | Ao TEHR
C) Nobel Prize in Computer Science
© P (D) T/ & reie JEEHR
(D) Nobel Prize in Mathematics
. ‘Oenge feR’ fohw AeAT % aRla IR
3. ‘Mobile Tihar’ is launched under f5ar T?
which scheme? ]
(A) HOR frER Jee
(A) Sanchar Vistar Yojana . . ;
(B) R 3hifd AT
(B) Sanchar Kranti Yojana a
(C) EER AR ASH
(C) Sanchar Prasar Yojana .
‘ (D) TEIAR AT
(D) Doorsanchar Yojana
. frm sidme fRew fem v =
4. World Biodiesel Day is celebrated TaT 27
on which date?
(A) 8 ITrE
(A) 8th August
(B) 9 1=
(B) 9th August
(C) 10 3
(C) 10th August
(D) 11 ¥
(D) 11th August

SPACE FOR ROUGH WORK / T %™ % faT g
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5. Bansagar Canal Project is not 5. IVEFR TR Rk fFe T @ delta

associated with which State? Eri 4

(A) Madhya Pradesh (A) T TS
(B} Uttar Pradesh : (B) IW T
(C) Bihar (©) frRr
(D) Rajasthan (D) TSI

6. Prabhat Koli is associated with 6. VA wich forg G @ gafa €7
which sports?

(A) TR
(A) Swimming
i (B) wrifead
(B) Athletics SI%T
C) fowa
(C) Pistol shooting (©) ramt o
“ D
(D) None of the above ( ) qu-a;
7. W& W T feRRe § o A
7. Lakshya Sen has won which of the ST St 7

following events?

(A) 2 % fag wRrm i <A

(A) Asian Junior Championship

2018 for Tennis 2018

(B) Asian Junior Championship (B) 2w & forg wfRrm e <R
2017 for Tennis 2017 _ .

(C) Asian Junior Championship € e & PV'Q TR W
2018 for Badminton AR 2018

(D) None of the above (D) 3I9gch H & WIS TE

8. Rahul Gupta, who scaled the | 8. Ugd T8I, fq #e= e W %a@ ww

Mount Everest is from which State? #, fra T=w 9 77

(A) Madhya Pradesh (A) HET Tem

(B) Uttar Pradesh (B) I YT

(C) Rajasthan (C) TSY™

(D) Chhattisgarh (D) &g

SPACE FOR ROUGH WORK / & %™ & fau e

8102/ND-RRA/RCE-E/9-A 4




9. Who among the following players
is not honoured with the award
of Padma Shri?

(A) Leslie Claudius

(B) Saba Anjum
(C) Renuka Yadav
(D) All of them

10. Gundadhur Award, 2017 is given
to which player?

(A) Saba Anjum

(B) Renuka Yadav
(C) Amandeep Khare
(D) None of them

11. Which of the following is the most
backward tribe of this State?

(A) Pardhi
(B) Dhanwar

(C) Bhatra
(D) Kamar
12. By which of the following names

the marriage through kidnapping
is known in the tribes of this State?

(A) Ar-uto
(B) Lamsena
(C) Paysotur
(D) Duku

9. T ¥ fra faandl =1 vt R &
e Xt e e

(A) e TSI

(B) Hel 3
(C) Hl e
(D) 34 & wsfi

10. eI TR, 2017 Tra faadt #
e Tn?

(A) W= SR

(B) TH A
(C) *m-dY @R
(D) T | g T

11. 38 U9 il 3fa fedt saenfa F=ffaa
¥ H-w 87

(A) TrReR
(B) MaR
T HC) Waa -
(D) FAR
12. M TSY I SFENTGAT H AT % g

foare = Pafafae & @ /g @ 9 S0
T 87

(A) IR-3d@
(B) @&
(C) TR
(D) §F

SPACE FOR ROUGH WORK / 1% %M & fo7q 78
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13. ‘Kurukh’ dialect is spoken by which
of the following tribes of this State?

(A) Baiga
(B) Maria

(C) Halba t
(D) Oraon

14. ‘Kaksar’ festival is celebrated by

which of the following tribes of
this State?

(A) Dhurwa

(B) Parja

(C) Abujhmaria

(D) Muria

On the confluence of which of the

following rivers the famous tourist
place Dantewada is situated?

15.

(A) Shankhini-Dankini
(B} Indravati-Sabari-
(C) Kotari-Narangi

(D) Gudra-Niwara

16. The author of the book, The Naked

Ape is

(A) Cuvier

(B) Galen

(C) Desmond Morris

(D) Charles Darwin

By e

13. ‘T8@ Weh W ¥ ¥ Pefifea § @
Torm seenfa 3o el st R7

(A) &

(C) &=
(D) ¥
14. 39 T @ F=falea % @ fem smenfa g
‘TR’ ER TR SITar 37
(A) g
(B) WS
(C) sragmien
(D) g

15. Fmfafaa 4 & fm R & om = wRg
W T aaTSl w91 gIT 87

(A) viRat-gfe
(B)— Sx1erelt -1
(C) -G
(D) gu-fraa
16. TS W AWF THh H OEF ¢
(A) FfrR
(B) feH
(C) Suwvs A
(D) =Ted Eifda
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17. The hormone that helps in | 17. WM § #7eg FA I T9H §
parthenocarpy is

) (A) SAffRm
(A) auxin .
) B
_ (B) _cytokinin (B) . .
(C) gibberellin (C) Trerfem
(D) wefiei

(D) ethylene
18. HEHSIAYAh el foram o wom fawor &

18. First successfully cloned deer is

(A) Drewn () s

(B) Dewey (B) Gl

(C) Drarar (C) T

(D) Delor (D) fewr

19. The common nitrogen fixer in paddy 19. UM % @al § W m@ﬁﬂ Trrr Qe ®

fields is
(A) TSR

(A) Azospirillum
(B) TsifoEm

(B) Rhizobium

R (©) Hfem

(C) Frankia I

(D) A=At

(D) Oscillatoria

20. T3 T R e, TR T @ T

20. lllal;t ix:hlch yields resin, timber and wE A g, 3
(A) Pinus (A) T
(B) Eucalyptus (B) W‘Zﬂ
(C) Quercus (C) Y
(D) Dalbergia (D) SE=fET

SPACE FOR ROUGH WORK / T &M % ¢ 91g
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21. What will come in place of question | 21. ¥ g (?) & W W T WAM?
mark ? ACEG : NPRT :: ADGJ : ?
ACEG : NPRT :: ADGJ : ?
(A) NRTX
(A) NRTX i
(B) ORVX
(B) ORVX
C) NQSU
(C) NQSU € NQ
D) NQTW
(D) NQTW (b) NQ
? MY
22. What will come in place of question 22. 3 58 (7) F ®W R FM ’
mark ? 7:254: ? :623
7:254: ? :623
(A) 25
(A) 25
(B) 26
(B) 26
(C) 27
(C) 27
(D) 3w § A A T
(D) None of the above
_ , _ 23. Tdt wikfa® w1 §# BREAK 1 ASDBJ
23. In certain code, BREAK is written

as ASDBJ. How is SOLAR written
in that code?

(A) RPKBQ
(B) RPKBS
(C) TPMBS

(D) TPKBQ

foran St 21 3t i § SOLAR &l &1
forar sRm?

(A) RPKBQ
(B) RPKBS
(C) TPMBS

(D) TPKBQ

SPACE FOR ROUGH WORK / T %d % foq g
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24. T @ Fi 9 R

(A) 10

(B) 11

(C) 13

(D) 18

25. Using the following figures, find
out which number will be at the
bottom face of Fig. (a) :

3 3 4
2 6 3
6 5 5
Fig. (a) Fig. (b) Fig. (c)
(A) 1
(B) 4
€ S

(D) None of the above

25.

(A) 10
(B) 11
(C) 13

(D) 18

frifera fot 1 3w = @ iR fh
(@) % 9 I BaE | IH-AT TH
3

3 3 4
2 6 3
6 5 5

Fig. (a) Fig. (b) Fig. (¢)
Ay 1

(B) 4

(€ 5

(D) 3T & A FIE T

SPACE FOR ROUGH WORK / % &M % T S8
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26. Use of computer in education ‘is

26. e § Frg@ F I A IE

started in BT A1)
(A) 1960 (A) 1960
(B) 1970 (B) 1970
{C}—1980—— (C) 1980
(D) 1990 (D) 1990
27. Where are saved files stored in 27. FR § ¥9 T T wrA wa @R
computer? I &7
(A) RAM .
] (A) RAM
(B) Hard disk B d disk
H .
(C) Cache (B) Har °
(D) ROM (C) Cache
(D) ROM

28. Which is the odd one?
(A) Inkjet printer
{B) CRT
(C) Laser printer
(D) Dot matrix printer

29. A word on a web page which opens
other document when click on it,
isa_____

—(A) hyperlink

(B) anchor
(C) reference
(D) URL

30. Which of the following
a search engine?
(A) AltaVista
(B) Google
(C) Orkeet

(D) Science direct

is not

28. TTH A F 7
(A) Inkjet printer
(B) CRT
(C) Laser printer

(D) Dot matrix printer

29. WV W___ 9 W T & 4 @@
SR e R
(A) hyperlink
(B) anchor
(C) reference
(D) URL
30. frfafan & & Fm-w o< Som 7 27
(A) AltaVista
(B) Google
(C) Orkeet

(D) Science direct

SPACE FOR ROUGH WORK / T #® ¥ o sg
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31.

32.

33.

{B)—His—glasses-are-broken.

Choose the incorrect sentence from
the following.

(A) My dad’s new binoculars are
fantastic.

34. Out of the four

alternatives
suggested, select the one which best
expresses the following sentence in
direct speech.

The Prime Minister said that no one

(C) Your pyjamas are on the bed.

(D) Where is my new shoes?

My boyfriend said to me, “That is
heavenly.”

The word ‘heavenly’ in the above
expression is

(A) a noun

(B) an adjective

(C) an adverb

(D) a verb

Which of the following sentences is/

are correct passive transformation(s)
of the given sentence?

People said that he was jealous of

Y [ - T S S

(i) It was said that he was jealous
of her.

(i) ‘He was said to be jealous of her.
(A) Only (i)

(B) Only (ii)

(C) Both (i) and (ii)

(D) None of the above

would be allowed to disturb the
peace.

(A) The Prime Minister said, “No
one will disturb the peace.”

(B) The Prime Minister said, “No
one can disturb the peace.”

(C) The Prime Minister said, “We
shall not allow anyone to
disturb the peace.”

(D) The Prime Minister said, “We
would not allow someone to
disturb the peace.”

—38. -Identify the-correctly spelt word.

(A) Reneissance

(B) Renaisance

(C) Renaissance

(D) None of the above

8102/ND-RRA/RCE-E/9-A
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36. T@AT % IMYR W 72 & fohe A &7 40. Fafafgs ¥ § HH-W W= ‘I &
el Tt 27
() <
(A) sEn
(B) T
(B) %
(O 1 E i
() Rm
(D) =R
IEEL
37. a9 % fore g 27
i . 41. ‘9 we ¥ Torwer e g &7
aq
™ (A) W9 SRl T
(B) =W
(B) HIURTl a9 6
190, T (C) She i gaam Rufa =1
(D) = (D) S 1 srifkren Rk
38. %ﬁﬁg@mﬁmﬁmﬁ%ﬁw 42. E«ﬁ@ﬁﬁiﬁm%%wﬁm%?
SIER Ta1 87
A (A) HE "
amat
B (B) #1§
P B () wmEfERr
(C) IR
. (D) HI§
(D) W=
43. ‘WA F FA W AR H1 WK Ferad 5
39. ‘5’ fopu =i = guwIER B7 a7 2 o
(A) - () $ER
(B) F-= (B) EWIRR
(C) z-eH (C) @R
(D) - (D) I wft

SPACE FOR ROUGH WORK / T %H % forw s
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a4.

(C) FUER

45.

46.

47.

Frfafaa % @ 37 w7 g
() g
(B) =g

(D) g

AN Ug e &, ™ FE A T FHewea
o ad R}

(A) ATH F U, TATTHT
(B) FC # AT BA
(C) T A o

(D) S e e wrn

R wAre e fafed)
(A) <

(B) =

(D) =R

‘T’ w1 forefrneff wree fftad
(A) T

(B) wehel

(C) rswt

(D) &

48. f=faRaa weea #1 e samEe .

e & Frera & &k T ge |

A) o gdfiem ¥ SO D gHEa o
A _

49.

50.

(B) B gHiad ¥ s9 S gHea H
G

(C) =< & 5 gelierd | we

(D) &+t gefierd =1 Tk T GIHEAT BT
frafafea aw 1 @t aw= =0 e
BHT-DRFRT 6 731 7 = fa)

(A) SHT-BTUHA FT 381 T = R
(B) STH-BHT 3 5a1 =t fow g3
(C) DHI-BUFFA & Ta1 =9« feA|

(D) BHI-BUFA 1 qq1 =« fe|
FefaRaa s &1 @t a1 e
TWiRgA o 93 9 § forere o7Emq g 7
(A) THIFEA % &S 9 § 31910 gR 3|
(B) TWfHGT % L & 3@ YR 2
(C) TwfRgR 1 98 9 T 19T gRR B

(D) THfFGT % & o8 ¥ @ PR
W 7

SPACE FOR ROUGH WORK / & &1 % fog 9g
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51.

52.

S3.

54.

SECOND PART / <@ WRT
Section—II / favm—I1

The oldest lens fibres are present in

51.

TEH S1ET 3W F OFH WIER @l T S

&2

-{A)—outerlayer-of nucleus
(B) superficial layer of cortex
(C) central core of lens nucleus

(D) deeper layer of cortex

The layer of cornea between

epithelium and stroma is
(A) endothelium

(B) Descemet’s membrane
(C) Bowman’s membrane

(D) None of the above

Schwalbe’s line in the angle of
anterior chamber refers to the
prominent end of

(A) anterior limit of trabecular
meshwork

(B) sclera

(C) Descemet’s membrane of cornea

(D) ciliary body

The extraocular muscle having

sympathetic innervation is

(A) superior rectus

(B) levator palpebrae superioris
(C) Miiller’s muscle

(D) superior oblique

52.

53.

T B WO

54.

(A) TR <t =Tl wa #

(B) wiead HI 9l Tag A

(C) g Ttk & F=ig wr A

(D) Hicad i Tl wa #

Hia § wdefiform ok € % o f
T BH-H Bl 7

(A) werfiferm

(B) SRz dgw

(C) = e

(D) 3w® & | 1S T

T % TARR IR A wieEs o
Toreeer WA= T ®7

(A) SRR A 1 TR fafte
(C) it 1 Sz e

(D) Taford sf

T Twgelager wanst @ Reddfew
FAETM BT 87

(A) ghfeR Y|

(B) Terde el gifeiia

(C) TR 1 Ift

(D) gHRER Ataeli

8102/ND-RRA/RCE-E/9-A
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55. The most accurate method - of | 55. T ATYeR Y& A it we@t fagre fifYy

measuring intraocular pressure is 2

(A) indentation tonometry (A) FoEE 2
—(B) digital tonometry | = (p) fafeq J9REA

(C) applanation tonometry (C) STEH SFA

(D) air-puff tonometry (D) TR-I% AT

56. White reflex in pupillory area is seen 56. W i # ahe figeag fram

in

(A) Ui FRFE |
(A) total cataract |
(B) endophthalmitis (B) wETHRRY |
i : (C) IRArsemeem &
(C) retinoblastoma
(D) All of the above (D) Swdw @it &
57. Safe strategy has been developed for 57. fr?;?aﬁ Tros we & fore fowftm

the control of

(A) T FrResifaefafa

(A) vernal keratoconjunctivitis

(B) trachoma (B) g
(C) bacterial conjunctivitis —(C) swifEe weifRfafw
(D) corneal ulcer (D) HiHae A

58. Deficiency of vitamin A can cause all 58. faaifim A & wft Fimfofed & @ @it =

of the following, except FHRO | Tk B, Rrama
(A) Keratomalacia (A) fFRmARE F
(B) Night blindness (B) Wit %

(C) Xerosis (C) sk F

(D) Dermoid (D) TWEE F

SPACE FOR ROUGH WORK / & %1 ¥ fve s
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59. Sudden painless diminision of vision 59. @fa s&iEd TR %1 " fFefafas & @
can be caused by all of the following, ¥ % SHROT B Thar 7, e
except
(A) R fedame &
(A) retinal detachment
‘ (B} i F————
(B) optic neuritis
(C) ATfeH Tkl &
- (C) optic atrophy
(D) Bg WA A AT
(D) central retinal artery occlusion
, _ . 60. WHO % 37guR F997 H 95 iig 6
60. Accfordmg to WHO, bln:ldness is w9 e ¥ =7 § yRrfa feam
defined as a visual acuity of the 2 N
better eye, less than ’
A) 6/60 (A) 6/60 T =W
(B) 4/60 (B) 4/60 ¥ %4
(©) 3/60 (C) 3/60 @ =W
(D) 5/60 (D) 5/60 & %A
61. Hypopyon is seen in 61. TH Y W R
(A) bacterial infection (4) STy HpHor 3
(B)—fungal infection— (B)- IR HshHOT-
(C) Both of the above (C) mﬁ?ﬁ_‘ﬁ;ﬁﬁ
(D) None of the above (D) Wﬁ@ﬁﬁ
62. Corneal sensation is lost in 62. T U1 @ a1 Hae @eH B el 37
(A) herpes simplex (A) gfta R
(B) conjunctivitis (B) Hsi=rfafeq
(C) fungal infection (C) HITH HhHOl
(D) trachoma (D) =T
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63. Exposer keratitis is seen in paralysis 63. frm Hiter 74 & FW T FA ¥ TSR

of cranial nerve frtergdia | It R7
(A) I (A) 1II
(B Iv (B) 1V
€ Vv € v
(D) vII (Dy VII
64. How many days to preserve the | 64, wHi-al JARU % U wifHa =1 g
cornea in MK medium for corneal MK wrey 8§ foran feqt e oo siran 27
transplantation?
(A) IR f&=
(A) 4 days
B) 33 T
(B) 8 days
(C) safm
(C) 10 days
(D) 12 days (D) BiRG

65. FHIA TR hl HaiUFH AFAY FEHH

65. The mf)st important adjuva:lmt 2
therapy in case of corneal ulcer is
(A) Lignocaine eye drops (A) fermee 3:"?_@:9
__(B)..Dexamethasone eye drops B .(E,’_)_ SHAFAR 18 s
(C) Pilocarpine eye drops () i o grw
(D) Atropine sulphate eye drops (D) T g g
66. Cornea is 66. T &
(A) transparent and avascular (A) dreefi SR TeEgeR
(B) transparent and vascular (B) UERfl 3R e
(©) Bo;ch of the above (C) 3w At
(D) None of the above (D) ‘ﬂﬁﬂiﬁ@fﬁqﬁ

SPACE FOR ROUGH WORK / T %™ &% foTg g
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67. The refractive power of cornea is
(A) approximately 38

(B) approximately 44

67. g ok e &war gidi @

(A) T 38

(B) < 44

. — [C) approximately 54
(D) None of the above

68. The cause of non-healing corneal
ulcer is

(A) Vitamin A deficiency
(B) impacted foreign body
(C) diabetes mellitus

(D) All of the above

69. The primary function of cornea is
(A) aqueous secretion
(B) accommodation
(C) to regulate the amount of light

—————(D) -refractive medium——

70. Keratoconus is

(A) corneal U/L  inflammatory
condition

(B) corneal B/L non-inflammatory
condition

(C) corneal B/L  inflammatory
condition

(D) None of the above

68.

69.

70.

(C) <"t 54
(D) 3w & ¥+ T

T M 1T I ST 1 FT HRO gl
37

(A) faerfim A & =it

(B) WA | 1 Sl T

(©) wyiE

(D) ST Wt

HitHar F1 mfies wE g 2

(A) S g

(B) THIHISTH

(C) WeRT T "B 1 Fre

(D) Tdrfaea aream

R 3

(A) I U/L $maed st
(B) HiHIa B/L AA-3emed srae
(C) witHaa B/L YAl STaedn
(D) 39 § & =g T

SPACE FOR ROUGH WORK / % &M % ¢ g
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71. Keratomalacia is found in 71. fr@malmEn gmn s 2

(A) Vitamin A deficiency A) fafm A it =i 4§
(B) Mumps (B) TeIgan '
(C_) _Rubella ©) w=e § a
(D) Rabies (D) e
72. The refractive index of cornea is 72. T W AR w3
(A) 1-3
(A) 1-3
B) 2:3
B) 23
(C) 25
(C) 25
(D) 3-0
(D) 3:0

73. Corneal Herbert’s pits are found in

73. SHiHad gae fogg 9mg 9 &
(A) TRIGER FASfaeted §

(C) spring catarrh (B) T H
: T (C) THawdl (Bmwer) W

(A) mucopurulent conjunctivitis

(B) trachoma

(D) phlyctenular keratoconjunc-
tivitis (D) TR~ PR &
74. :)I:;te (c;fb;he thickness of cornea is 74. ST 6 watie S a2
(A) epithelial layer (A) ufffere wae a
(B) stroma (B) I EW
(C) Descemet’s membrane (C) fde #= g
(D) endothelium (D) Terefiferm g/

SPACE FOR ROUGH WORK / % %M & fou 7
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75. The method of prevention of | 75. 7AW Hiaa &g & pam H fafy

impending ulcer corneal perforation 2
is

(A) TErgeRT T&
(A) antiglaucoma drugs |

(B) i T
(B) contact lens
(C) pad and bandage (C) T AR I
(D) All of the above (D) 3w ft

76. Nasolacrimal duct opens in nose at 76. SETHTE S9 T H TR ST et #
which place?

(A) g fredy
(A) Middle meatus

(B) R fiedm
(B) Inferior meatus

(C) HeA &R
(C) Middle turbinate

(D) TR TR

(D) Inferior turbinate

e Ee R e e T T Al g Rren st % TR
. 1s related to which part o aT § gt 27

lacrimal drainage system blockage?

(A) Punctum (4) A

(B) Canaliculi (B) omrefigeft

(C) Nasolacrimal duct (C) “EIeTshiAe S5
(D) Lacrimal sac (D) wfseaa Ik

SPACE FOR ROUGH WORK / & %M % fuu s
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78. If patient comes with complain of

watering in his right eye with
discharge, RT  positive  with
mucopurulent discharge, so in
syringing what will you find and

78. 3R Uft fder & @y <l okg & o,

HHAHE Ao Ho & @Y
T i ReeEa s e &, @ Rifci

79 L]

where is the blockage?

(A) Regurgitation of clean fluid from
same punctum so blockage at
common canaliculi

(B) Regurgitation of clear fluid from
opposite punctum so blockage
at CCC ‘

(C) Regurgitation of clear fluid from
same punctum so punctum
block

(D) regurgitation of opposite
punctum with mucopurulent
discharge so blockage at MLD

DCR is helpful in which of the
following conditions?

(A) Both punctum blocks
(B)_Both canaliculi blocks

80.

(C) Common canaliculi block

(D) MLD block

For the management of acute
dacryocystitis what we should
avoid?

(A) Systemic antibiotics
(B) Hot fomentation

(C) Syringing

(D) Analgesic tablet

T 39 1 QT qUT scAthst et 27

(A) TH @ RH ¥ W 59 F FHERET
BT ¥ AieY sATohs 3TH ottt
iR

(B) fouf@ vagn # w% 39 =1 FEfYy
BT B 3Ty seilehsl CCC § 3

(C) T & UHgH ¥ UH Ta 1 ARG
BiaT 3 3T YN S 8

(D) fof dagn & FERAY REIgEe
e & wy @ ¥ sufom @
MLD # 2

79. Frafafaa & @ 6w s@em & o o

3o HIR 37

(A) 2t R st

(D) THo TAo To sl |

80. dia Sfhriftresfen wawm & forg & frw

IRER AT =R ?

(A) =Hafer Weries
(B) ™ &®

(C) wfGH

(D) eI et

8102/ND-RRA/RCE-E/9-A

SPACE FOR ROUGH WORK / 1% %® % fu w7

21




81. Penetrating keratoplasty is useful in
all of the following, except

g81. Ffafes = #§ FEm Fdenfe
TeeTr ?, R

(A) aphakic bullous keratopathy (A) m—;ﬁq; £ FRNR *

(B) Fuchhs endothelial dystropy (B) 51 weeine Seih W sitEa
and corneal oedema 3R F

(C) keratoconus and central corneal ©) B EnErey T!?l aiﬁ e AAAA
opacity ¥ :

D) amblyopia

(d & (D) Tfrernf

82. Eye d tion is useful for the i

triatm;);a of which type of | 3% FrfaRaa # @ 5w a@ & 9w ¥ IR
: ?

blindness? ERSLEECERCC I

(A) Optic nerve () i@l H @
(B) Corneal (B) i
(C) Retinal (C) ¥
(D) Cortical (D) Hiteeha

83. In eye banking which media is uséd | 83. ¥ ¥ ¥ wituw wfeaw ¥ o fea
for corneal preservation? Hifear =1 =aer foFa s 27
(A) MK media (A) THo Fo e

__(B) SSP media__ i . —(B) THo-THo Ho fifemr

(C) GK media () sho Fo i
(D) Normal saline (D) HOT S

B e witn which of the | 84 Prfm 3 3 fm w3 wwm
following syndromes? rhfrerien vl i W 27
(A) Trisomy 21 (A) FEEEH 21
(B) Morton’s syndrome (B) wHieA ﬁ@q
(C) Irvine-Gass syndrome (&) ﬁ-mﬁ@q
(D) Dry eye syndrome (D) Wﬁ'ﬂﬁ@q

SPACE FOR ROUGH WORK / T% %M & fog s
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85. How many hours after death eyes | 85. ¥ % 3i& fohan ©2 uwaq €M foham s

can be donated? T 27

(A) 24 hours (A) 24 =
(B) 36 hours (B) 36 =
(C) 12 hours (C) 12%
(D) 6 hours (D) 6

86. The most common cause of | 86. WRd ¥ Y H TSH 3TH HRT T 87
blindness in India is

(A) g
(A) trachoma

(B) T Hiferferg
(B) glaucoma

(C) wferarierg
(C) cataract

(D) T A it =it

(D) vitamin A deficiency

87. AWM (YAG) @R frgs o=t & forw wam

87. YAG laser is used in the treatment of Tor e ®7
(A) diabetic retinopathy (A) ngﬁg % HRUT T TN TS h GO
(B) after cataract operation (B) Wifeanfsg iQeM & =18
(C) open-angle glaucoma - (C) ‘{gﬁ-w ST hIeTT HIforRTiog
(D) corneal ulcer (D) wiftdaa 31

88. The commonest cause of cataract is 88. Wifdwfse &l G998 31H RO F= 7 R?

(A) hereditary (A) STgaifEh
(B) diabetes mellitus (B) AYgHE

(C) trauma (C) AT

(D) age-related (D) Tg-graeht

SPACE FOR ROUGH WORK / T %d & fou w7
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89, Which of the following is the most
important factor in prevention of
the endophthalmitis in cataract
surgery?

(A) Preoperative preparation with

89. ¥ mifenfee A & ITT T A
TEftufen @ swe % foe #9-w v
HE 7

(A) ATEH gd Nefed AREH 1 Fau

povidone iodine

(B) One-week topical antibiotic
therapy prior to surgery

(C) Trimming of eyelashes

(D) Use of intravitreal antibiotics

90. Normal lens of human eye is
(A) transparent
(B) biconvex
(C) crystalline
(D) All of the above

91. After-cataract operation lenses are
prescribed after

(A) 2 weeks
(B) 6 weeks

———— (C)—12-weeks——

(D) 16 weeks

92. What type of surgery of chore is
done for almost all types of cataract?

(A) extracapsular cataract
extraction
(B) intracapsular cataract

extraction
(C) Both of the above
(D) None of the above

(B) Ty Y9 Tk Gdle § @ Wi
e RA FH TS

(C) ekt st i (Serd)

(D) Ipfma TS w1 i
90. HIH F I FH MFHiE 79

(A) URaEft

(B) =g~

(C) Pt

(D) g wft

91, Tifffie TR % Tvarq wwm fhaw feAt
¥ I8 <4 87

(A) 2 TR
(B) 6 GHTR
(€) 12-9HTE
(D) 16 TG
92. ey & ¥ @t ¥R F Aifewieg &
T fore wer ot ST et 87

(A) TRIFERR =~ FRE  @EIRH
(Frshfor)

(B) TR FtTe wwaea (Femor)
(C) 39 <l
(D) Sugw & & =g T
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93. The 'most common dreaded | 93. HifdAEE A F ¥F A4 e ToA

complication after-cataract surgery WAHTS Bl IhIH 2

is

() tErafeufm
(A) endophthalmitis
T {B} <! hl\‘l\‘am Sl 3T é\’l:ﬂ
(B) shallow anterior chamber
C) 3@l § G

(C) hyphema © N

(D) after-cataract (D) o 3 1 1 S ( ")
94. The refractive power of lens is 94. T N AT Wfeh B

(A) 15 D-16 D (A) 15 D-16 D

(B) 44 D (B) 44 D

(C) 60 D (C) 60 D

(D) 20 D (D) 20 D
95. Intraocular lenses are generally 95, 3@ ¥ IR TH I -8 AT Forah

made of o9 B 27

(A) prolene (A) W=

(B) PMMA (B) dto THo WHo To

(C) HEMA (C) THo 3o WHo To

(D) silicon (D) Rfr
96. Blurring of vision for near work

occurs in

(A) presbyopia

(B) hypermetropia
(C) Both of the above

' (D) None of the above

96. fiwe gt § Yuenum fohad ferm?

INCEIR IR
(B) TEHHITE
(C) 3T et
(D) 394 # & ¢ e

8102/ND-RRA/RCE-E/9-A
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97. In retinoscopy using a plane mirror, | 97. w9 X & WA=N w@ 99 59 A

when mirror is tilted to right, TR WH A §, 9 et 6t ward arft
shadow in pupil moves to left in W forad STty
(A) myopia more than 1 D (A) AT 1 D @ sam
(B)__ hypermetropié. | (B) W
(C) emmetropia (C) T
(D) myopia less than 1 D (D) ¥R 1 D %1
98. The drug of choice for pupillary N e
dilatation in children is 98. =i ﬁ%g? E % forg -+ ST 3
(A) homatropine ‘ .
o (A) BT
(B) tropicamide
_ (B) 2U=mES
(C) atropine
Q) W
(D) cyclopentolate ©
(D) WTEEAN=Ice
99. Aniseikonia refers to the difference
in 99. uffyeifn wehifa Far §
(A) refractive power (A) T aR & 3rm
(B) corneal diameter (B) HHae SR § =R
(D) colour of image (D) 38T 3 HeR & IR
100. Stumm's ~ conold = refers =10 100, smffin mem 3w Frwe ¥ A A
configuration of rays refracted - N
through
{A) spherical concave surface (A) THRFA FHA THE
(B) spherical convex surface (B) TR FHiAaTd T
(C) toric surface (C) i whu
(D) irregular surface (D) RIER &HE

SPACE FOR ROUGH WORK / % &M % fou sz
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51.

520

§3.

Section—III / fAwm—II

Which of the following is not a part
of nephron of kidney?

51.

frefafen & & F-w e () ¥
i o T i R7

(A) Proximal convoluted tube

(B) Descending limb of loop of
Henle

(C) Pyramid

(D) Collecting duct

Bile is secreated by which organ?
(A) Liver

(B) Gallbladder

(C) Pancreas

(D) Duodenum

Which of the following is not a part
of small intestine?

(A) Stomach
(B) Duodenum
(C) Jejunum

(D) Neum

52.

53.

() SR FERE FE
(B) U 3% el 1 fedfen fom
(©) frifie

(D) FAfFT g

i (seer) FFm i gRT Seafia g 7
() FFa (f7R)

(B) Toa $r Aht (nfetsareR)

(C) F=IH

(D) g™

P & @ e-a1 o1 o F1 e
& 27

(A) TR (V)

(B) gelie™

(C) g™

(D) sferm

8102/ND-RRA/RCE~-E/9-A
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54. How many pairs of nerves arise from

the spinal cord?

(A) 30

54. WAd wie ¥ fHat i dbed

Freperdt €7

A) 30

55.

56.

Which of the
supplies the lateral rectus muscle of
eye?

(A) Olfactory nerve

(B) Optic nerve

(C) Abducens nerve

(D) Facial nerve

Which semicircular canal does not
exist in inner ear?

(A) Anterior semicircular canal
(B) Posterior semicircular canal
(C) Lateral semicircular canal

(D) | Superior semicircular canal

following nerves

55.

- 56.

(B) 31
(C) 32

(D) 33

e ¥ dwe Wew WS wEwt @
FH-H 9B (Nerve) s Xl 87

(A) ez AR

(B) e b

(C) @

(D) Wite e

FF-ft R T st FE E

urht St #7

(A) TfRRER srdeEer ek
(B) NfRfeR srduzsRr i
(C) VXA AUTEHR Al
(D) FfReR Srei=sehR el

8102/ND-RRA/RCE-E/9-A
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57. What is the range of wave length of 57. sIMRs X-frol & oo w1 WM

diagnostic X-rays? fopaaT Brar 87

(A) 0-1A to 10000 A (A) 0-1 A¥® 10000 A

(B 100Ato1000A | = B 100A¥1000A
(C) 1000 A to 10000 A (C) 1000 A& 10000 A

(D) 0-:001A to 0-1A (D) 0:001 A® 01A

58. In IVP study, 15-minutes post-void- | 58. IVP Sitg # 15 e % Wre-aigs-um

-prone film is taken Torem st foram sman 87

(A) to visualize the nephrogram (A) THIH @A F I

(B) to visualize the pelvicalyceal (B) UfcerforRrer fomem aen I H I
system and upper ureter e <@ & foqu

(C) to visualize the lower ureter and ©) @2( w1 T=en e aun ai%ﬁ-éﬁma
uretero-vescical junction T W @A &+ fow

(D) to visualize the urinary bladder (D) e e e & fog

§9. Enteroclysis is done for which part 59. TFARMGE Si9 31d % fhm wm F

of intestine? fopen e ¥7

(A) Colon (A) =

(B) Rectum (B) WA

(C) Stomach (C) ImHEM™

(D) Jejunum and ileum (D) S 3R gferm

SPACE FOR ROUGH WORK / 1% %1 % fiu wrg
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60. Lordotic view of X-ray chest is done | 60. X-X 94® F wieife® = ¥hs & form W

for which part of lung? F1 3@ forg fram s 27

(A) Middle lobe of Rt. lung @) T IR ¥ il a= #

(B Lingular lobe of Lt. Tung (B) @1 %%e o forger @d @l — 4
(C) Lower lobe of Rt. lung (C) T HEHS F AR @ H

(D) Lower lobe of Lt. lung (D) 9 ¥ % AR A &I

61. While doing X-ray chest centring is | 61. X~ & wd frg afisa wr w 2w 4

done at which vertebral level? Toran <tmam 87
(A) T, vertebra (A) T, afdsn
(B) T, vertebra (B) T, afdsn
(C) Tg vertebra (C) Tg s
(D) Tg vertebra (D) Tg afdsn

62. Following are the iodine-based | 62. Frfifam # ¥ Fm-w omidmdw

contrast media, except Fiere fifen =t 27
(A) urografin (A) it
(B) magnevist (B) W=
(C) omnipaque (C) 3=t
(D) trazograph (D) i
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63. In the ‘Towne’s view’ of skull the 63. WUl H ‘TR_FE EI\’ A T ﬂ@ﬁi, El
central ray makes how much degree o5 T Aifect) fiweq & i @ TS
angle to the orbito-meatal plane and 2, ATfI-fices wm @ fray faft =1 =
is directed to pass midway between TR 27

____external auditory meatus?
&) 20° (A) 20°
(B) 30° (B) 30°
() 45° (C) 45?
(D) 60° (D) 60°

64. Reason is for using barium sulphate 64. GIT SR % fore afem wethe S e
for GIT study is B HR &

(A) barium has a high atomic (A) sfEm et e 3= §
number (B) fm IR-srawifie, R-ifRs &
B . . ) _ '
(B) laoa;il:m is non-absorbable, non (©) em fafre F W 2
(C) barium is soluble in lipid () wﬁ s34 % s fm
(D) barium can be used for double et 1 e &
contrast studies 65. STAR GieqyH & forg FreifoiRag @t a=h

65. All are true among the following %’ Torama foa?
about developer solution, except (A) TEEEHAA T BHTSEH
(A} hydroquinone and phenindione (B) TE 9 9 §

(B) acids are added T (C) W&F ¥ ¥ § GfeTH Gowiee wHwE
(C) sodium sulfite is used as a Toran siraT B
pre.servat.lve ' D) Q'& R @Z — S — _%
(D) anti fogging agent is used
66. X-ray was discovered on 66. T g

(A) 7th November, 1895
(B) 8th November, 1895
(C) 9th November, 1895
(D) 10th November, 1895

(A) 7 TEwR, 1895 ¥
(B) 8 Fa=R, 1895 &
(C) 9 F9=R, 1895 &
(D) 10 Fa=R, 1895 &

8102/ND-RRA/RCE-E/9-A
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67. Which of the fbllowing is true about

67. Tmfafad § @ SH-81 Ao Too Ho AT %

TLD badge? o adh 27

(A) Total light dosimeter (A) P JeIET WA
(B) Testing light dosimeter (B)_ wievn el HrErfia
(C) True light dosimeter (C) w& wehr1 wETiHfd
(D) Thermoluminescent dosimeter (D) ﬂﬁ?{&ﬁ'ﬁ? LIENEI]

68. To Tdo To 3IRo Yo I Y01 A 3

68. ALARA stands for

(A) as low as reasonably achievable (A W A ot e

(B) as low as radiation arrangement (B) ¥ ot At fswm srtswie

(C) as low as reasonably attainable € & oM A Gt s

(D) as low as radiation allowable (D) &t @it O : :

69. - Y7 W FHAl |
69. X-ray can cause = 8
. (A) IR
(A) carcinoma )
(B) STt g5 o< T e
(B) skin burning and erosion ]
(C) TeH
(C) sterility - B
—y D) SEE e
(D) All of the above
70. Feurh we Fiivg 2

70. Radiography is strictly prohibited for (A) i Rt 3 Rt

A t

(A) pregnant women (B) T a4 | FH W TSl F=1 & (o

(B) children < 1 year © :%& i %

(C) leukemia patient (D) FeeHR i RFR s=h/aRenst ¥

(D) rape victim ferg
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71. Which of the following is true about | 71. T=fafaa & 4 =F-u1 s=t & TR *
radiography of children? o udt =7
(A) Short exposure interval (A) 0 Sifem AT
(B) Long exposure interval (B) €& W G SRIH Hallel _
(C) Gentle approach (©) @WT{FEEI?IW
(D) Forceful handling of children (D) ==t ) TGS TSI
72. Ten-day rule in HSG is used for 72. o Wo o # T fmw fam
) fopan < B
(A) women at risk of pregnancy
_ (A) Twiew % R SIRew Al wfwensi
(B} children ¥ fao
(C) obese women (B) =i ¥ R
(D) hypertensive patients (C) A et ¥ frg
73. For protecting the gonads of patient, (D) = T A A % forg
all of the following used, except - .
iy P 73, Frefiaa i & wit 0 F S A W@ S
(A) use of gonadal shields fore e e o €, R
(B) limiting area exposure (A) ST BT6T 3 e %
(C) limiting dose exposure (B) Hifta & = %
___(D)_increasing time of exposure-—— (C)—Hifia W SATERr S —
, , _ (D) TSR I Tt g§ 99 &
74. Which of the following cervical
vertebrae has most prominent 74. FrEfalag § ¥ DH-U1 GEEHT FEH
Spinous process? 1 gt wera g whea 37
A) C
( ) 2 (A) C2
(B) Cs (B) Cq
(C) Cs (C) Cg
(D) C7 (D) C7

SPACE FOR ROUGH WORK / & %M & foit s

8102/ND-RRA/RCE-E/9-A

33

[ P.T.O.




75. Lamp used in safelight should be of | 75. U%oge # WA fhT 99 98 o/ g &6

what power? Yier ferel B =nfeu?
A) SW (A) 5W
{B}—25-W (B —25W
(C) 75 W (C) 75 W
(D) 100 W (D) 100 W
76. kVp and mAs stands for 76. kVp T mAs %I 0 &9 3
(A) peak kilovoltage and (A) % fraaces @@ fiefiudfiR W
milliampere per second YhUg
(B) kilovoltage and milliampere (B) Terciiaieest wa firefiordr
(C) kilovoltage and million ampere (C) Freaiees ws fafem wfR W
per second YFUE
(D) kilovoltage and ‘milliampere per (D) et wd et ® dwve
second
77. fafes g d
77. Skyline view is for
, (A) Ffaea & fog
(A) clavicle
(B) weel % fere
(B) patella OGN
(C) calcaneum _ © e fe
(D) @hhiae % forg

(D) scaphoid

78. F=fifea # @ *F-@ o= @ & o

78. Which of the following is the most
$ R & fhen 1 @98 e mewgl

important layer of a film responsible

for image production? WA 37

(A) Film base (A) fhew s @
(B) Adhesive layer (B) Feafemar wa
(C) Emulsion (C) THTH
(D) Supercoating (D) gEHITeT
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79. Which of the following gases is used

79. Fafafea & @ FF-w T\ s-enedad

for intra-arterial angiography? TR ¥ fore s TR <t 27
(A) Oy (A) O,

(B) CO, (B) CO,

(C) N,0 (C) N0

(D) N, (D) N,

80. Which of the following techniques is

used in DSA for intra-vascular
treatment of lesions?

(A) Fluoro map
(B) Road map

(C) Digital map
(D) Angio map

81. Which of the following is modality of

choice for diagnosing varicose veins?
(A) Colour doppler

(B) CT Angiography (CTA)

(C) MR Angiography (MRA)

(D) Digital Substraction Angio-
graphy (DSA)

82. All of the following are liquid

embolizing agent, except
(A) ethyl alcohol

(B) polyvinyl alcohol

(C) lipidol

(D) onyx

80. fFmffga ¥ ¥ =H-dt aFis &l &

3-IGFER IR & fIU DSA # =
1 Al ]7

(A) WIS g
(B) Us Ay

() e A
(D) dfsw &g

1. f=fafaa # & - afws @ & fem

i oo ) wTeRT 27

(A) HeR SR

(B) o do TR (Hio do To)

(C) e Mo TSHWTH (THo 3TRo To)

— (o) fefrea wswm T tRemmh

(‘ép[o THo TWo )

82. frafafigs # ¥ wft wa wawERm w=

g, Rram

(A) TR IFTRRSA B

(B) dichifommse Tedhed &
() faftreTar =

(D) 3T %

8102/ND-RRA/RCE-E/9-A
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83. Who pioneered the technique of | 83. G YR G-Ik % Fadsh i &7
arterial puncture?

(A) I
(A) Cook
(B) Charles Dotter t (B) ST T
(C) Seldinger () defem
(D) qdesH

(D) Roentgen
84. Which technique can be used to 84. form wigwe % U w3 F g e
perform  angiography  without qepeiteh ol FETer FoRaT T |ehall &7

contrast?

(A) Hto Ho TREITH (Fto Ho To)
(A) CT Angiography (CTA)
(B) Wo Ro URMRAI (TWHo 3TRo To)

(C) fefvrea T TR

(B) MR Angiography (MRA)

(C) Digital Substraction Angio- (o 7o To)
graphy (DSA)
(D) All of the above (D) ST wh

85. frfufas § ¥ Bl T % forg o =1

85. Swimmer’s view in X-ray is used to

visualize which of the following? K2l m Tora ST @7
A C7/T A) C7/Ty
(B) T4/Ts (B) T4/ Ts
©) Ls/S; (€ Ls/S,
(D) Craniovertebral junction (D) siEfse sam
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86.

Flat pannel detector technology is
used in

(A) conventional X-ray

(B) computerised X-ray

86.

87.

88.

89.

(C) digital radiography
(D) All of the above

Which of the following catheters is
used for aortography?

(A) Cobra catheter
(B) Pigtail catheter
(C) Picard catheter
(D) Multipurpose catheter

Frog’s view is used for which of the
following?

(A) Developmental Dislocation of
Hip (DDH)

(B) Femur neck fracture

(C) Perthe’s disease

(D) Acetabular fracture

Which of the following is the most
important MRI sequence to diagnose
acute ischemic stroke?

(A) T, sequence
(B) DWI sequence
(C) SWI sequence
(D) FLAIR sequence

87.

88.

89.

w2 Ue oA Nefieh %1 @ R
ST B

(A) FAITHS THE-X H

(B FregtETe =L |

(C) Refrea Wedumd §

(D) I wft

Frafafea & @ SF-T1 FR sniard!

% forg seaurer feran mar 27

(A) IS FYR

(B) WiSRE HIR

(C) e FAX

(D) 3T FIX

Fefafes @ @ fras fom w1 =

ESUIRRE IS I

(A) STaTieat  feuahsm % @
(Sto o THo)

(B) IR 7 S

(C) MmAIT

(D) THRER HaR

ol 4 @ @R-w dig =hifes G
% fiem & fou swcafs wemgl MRI
w27

(A) T, fw

B) do T=go Raa

(C) Tho S ¥MRo i
(D) WFR (FLAIR) fa|

8102/ND-RRA/RCE-E/9-A
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920.

What is the HU value of fat?
(A) +100
(B) 0 to 50

90. TEI H HU 3 +1 &7

91.

92.

93.

(C) -10 to -50
(D) -100 to —150

Dye of choice in bronchography is
(A) gastrografin

(B) iohexol

(C) dianosil

(D) barium sulphate

What is the strlength of BaSO, used
in barium swallow?
(A) 20%-30% W/V
(B) 50%-70% W/V
(C) 100% W/V

(D) None of the above
Which of the following investigations

does not cause radiation hazard to
the patient?

(A) X-ray
(B) MRI
(C) CT-scan

(D) Barium swallow

91.

92.

93.

(A) +100
(B) 0% 50

(C) -10¥ -50
(D) —-100 / -150

FrehTTh # THe F e B

sfem | # A ey S 9 sftEm
Tore it Wy forat 27

(A) 20%-30% W/V

(B) 50%-70% W/V

(C) 100% W/V

(D) 30w § & HIE T

fFrafafaa & @ FR-@ Stg W % fog
AfEuIE % @R HT HROT AL TN

(A) T

(B) THo 3Reo 3Re

(C) Hio So T

(D) Sfem Wl

8102/ND-RRA/RCE-E/9-A
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94. Curie is a unit for 94. aw;"fsamé%

(A) exposure (A) STATILT £

(B) absorbed dose (B) Wﬁﬁﬁwfﬁ

(C) degree of potential danger to (C) e 3 R awife G Rt oy
health T | |

(D) quantity of radionuclide (D) ;ﬁ S ; kL
disintegrating/second

95. What is the full form of DSA? 95. o THo To I I T FT 37

(A) Direct Substraction Angio- (A) TTRFE FeHIHH TEITH
graphy (B) fefrew dnd tRmiT

(B) Digital Source Angiography N

. , (GIREECS K EEHERIERIDINT

(C) Digital Substraction .
Angiography (D) feforem ferereftra W lus

(D) Digital Sequential Angiography 6. m el ﬁ“ﬁ@“ﬁ (‘§o o

96. Extracorporeal Shock Wave 70 Teo) 1 ¥ T o e @

Lithotripsy (ESWL) is used for _ (A) T ¥ =R F fg

(A) renal tumor (B) ’ﬁ F R ¥ R

(B) renal tuberculosis ©) u_:, £ vl ¥ o

C al st o R et

. (C) renal stone (D) < % GshA0 & forg

(D) renal infection

97. At S=pE Rl 1 USG 3™
97. Most of the congenital anomalies are frg fmm & var =err 27

detected by USG in which trimester?

(A) First trimester (A) e foet
(B) Second trimester (B) {Fﬁﬁ'ﬂﬁﬁ
(C) Third trimester (C) R femmh
(D) None of the above (D) 3w # | HIg Tl
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98. Barium meal follow-through (BMFT)
is done for the visualization of which
organs?

(A) Oesophagus

(B) Stomach
(C) Small intestine

(D) All of the above

99, HSG examination for woman of
reproductive age should be conduct
within __ day from the onset of
menstruation.

(A) 6
(B) 7
(C) 15
(D) 10
100. Investigation of  choice  for

demonstrating vesico-ureteral reflux
is

(A) IVP
(B) HSG

(C) Micturating cystourethrography
(MCU) ’

(D) Fistulography

98. fFm o w Tl ¥ fou sfew dw

Hiel-9 (o THo Tho o) fopam srar 37
(A) TEAA

99.

(B) AMRE
(C) B o1
(D) 37w wft

il 6t yEoa &k fE % e
WA 1Y arelt Afgemedl F HSG wdieor
T GETEH L T AT |

A) 6
B) 7
) 15

(D) 10

“100. AffH-PRAA Q9w % YR & foQ 7@

$ 5t 2

(A) 330 o Mo

(B) o ThHo Sfio

(C) weregfen ey (wwHo ¥o o)
(D) R
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S51.

Section—IV / farm—Iv

Sound eannot pass through which
means?

51. mmmﬁwﬂﬁm%?

S52.

§3.

(A) Vacuum ) T
(B) Metal (B) =g
(C) Liquid (C) &«
(D) Tube (D) =

Localization ability is a part of which
development?

(A) Mental

(B) Physiological

(C) Auditory

(D) None of the above

Propagation of sound in air medium
is in which form?

(A) Travelling wave

(B) Longitudinal

(C) Transverse

(D) None of the above

52. ST e e g o1 e 27

(A) WA
(B) TR
(C) srao

(D) 3w F & = e

53. oY WA § @ 1 YER Ry w0 § {7

(A) I AR

(B) g

(C) e

(D) 3T § A A 7

8102 /ND-RRA/RCE-E/9-A
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54. Average intensity of a conversational 54, SEEd 0 S SEd digar B 2
speech is
(A) 20 dB
(A) 20 dB
(B) 30 dB
(B) 30 dB
(C) 40 dB
(C) 40 dB
(D) 60 dB
(D) 60 dB
55. Immediate octave frequency of a 55. 500 T H E 3 2
(A) 750 Hz (B) 100 Hz
(B) 100 Hz (©) 600 Hz
(C) 600 Hz
(D) 1000 Hz
(D) 1000 Hz
56. IR & ¥ fog w i am R
56. Another name for the unit Hertz is
(A) ik Wid S
(A) cycles per second
(B) seconds per cycle (B) it <5
(C)-meters-per-second € et i HHvS
(D) decibel (D) sk
57. Localization of sound begins at 57. wﬁmwmwﬁﬂgm%?

which age?

(A) 2-4 months
(B) 24 years
(C) 1-2 months
(D) 4-8 months

(A) 2-4 ®EH
(B) 2-4 €
(C) 1-2 #EH
(D) 4-8 W&

8102/ND-RRA/RCE-E/9-A
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58.

59.

One complete cycle of sound wave

58. wWi 1 & & g w% § 3wk

includes a1 27

(A) rare fraction (A) e
—{Bjcompression (B) &M

(C) rare fraction and compression ©) B i

D) None of the above

) (D) < § & 9 7

Wavelength of high frequency .

sound when compared to low S9. ®H 3“?5% A A gt 4 3= H@ﬁf W

frequency sound is 1 TWeA B

(A) equal (A) SqEl &5

(B) larger (B) =t

(C) smaller (C) B

(D) All of the above (D) mﬁ?ﬁ'ﬂ‘lﬂ

60.

What is the lowest frequency of a
complex sound?

(A) Fundamental frequency
(B) Resonant frequency
(C) Semitone

(D) None of the above

60. U Siow i ft gad w9 Mg o 27

(a) e sy

(B) IS iy
(C) It

(D) 39w T F FS T

8102 /ND-RRA/RCE-E/9-A

SPACE FOR ROUGH WORK / % ¥ ¥ fog g

43

[ P.T.O.




61. Range of human hearing is 61. W%ﬁﬂﬁiﬁm%

(A) 20 Hz-20000 kHz (A) 20 Hz-20000 kHz
(B) 20 Hz-20000 Hz  (B) 20 Hz-20000 Hz
- (C) 125 Hz-20000 kHz (C) 125 Hz-20000 kHz )
(D) 200 Hz-20000 Hz (D) 200 Hz-20000 Hz
62. Unit of intensity is 62. i TR
(A) bD (B) dB (A) bD (B) dB
(C) BD (D) DB (C) BD (D) DB

63. Frafufad § @ w9 & PH-A1 90 G A

63. Which of the following parts of the o A 1 Srreh
ear sends electric impulses to the * A i Al

auditory nerve during hearing e SIS /7

process? (A) i

(A) Cochlea (B) %ﬂ( _aw

(B) Hair cells © m

(C) Tympanum D) - s

(D) Stapes

64, 3dl U dEE W Wi

64. VIII cranial nerve is also called as T 2

(A) olfactory nerve (A) wT-TEEeedt dfen

(B) vestibulo-cochlear nerve (B) I=iegeii-sHuriaa dfen

(C) trochlear nerve (C) Tort Sreft ekt

(D) trigemial nerve (D) T dtem

SPACE FOR ROUGH WORK / T %M & fig g
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65. The part of the ear canal where most
cerumen is produced is in the

(A) isthmus

65. AR FAT (cerumen) IRa B
ELSUCEIRCA NS B & 8

(A) T SHEA (isthmus)

(B) ear drum

(C) middle third of the canal

(D) outer third of the canal

66. Which cranial nerve would be

affected by an acoustic neuroma?
(A) V (B) VI

(C) VIII (D) IX

67. MRI findings suggestive of total lack

of inner ear development in"a child
with hearing impairment is seen in

(A) Mondini aplasia

(B) Michel aplasia

(C) Scheibe aplasia

(D) Alaxander aplasia

(B) M H W
(C) SHiATCTeRT 1 Tex ORI S

(D) ofaferest @1 sTedt figa wm

66. TH HAU =Wl FRT HH-T HUTS e

TeTfer B SR ?
A) V (B) VII
(C) VII (D) IX

67. G FI TR a3 TF T | fied F9 H
— I T I TN T WHo R0 IR0
Fferd _ d @ s g 3)
(A) wifet sreenfimn
(B) Timier ereemitrn
(C) wha ranfi=n

(D) FIRIRIUST AT
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68. The number of turns of the | 68. Fvifad & ™ gu™ (turns) gd 87

cochlea is

(A) 2 @2
(B) 25 B) 25
© 3 (©) 3
D) 35 (D) 35

69. Narrowing of external auditory canal 69. STl HUITEhI I W Sheeldl 2

is called
(A) igfem
(A) atresia
B) wAIRE
(B) stenosis (B)
() otitis (C) sTewfm
(D) otomycosis (D) SEmEHRE

70. The smallest bone in the human 70. Wﬂﬂ'{aﬁ'ﬂaﬁ@?ﬁ@@?ﬁ%

body is
(A) malleus (A) gt (Aferr)
(B) incus (B) FerE (37a)
(C) stapes (©) W ()
(D) femur -
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71. Which structure provides the | 71. ®N-H) @& 9@ 3R 99y o9 ¥ A9
boundry between outer ear and oy STt 87
middle ear? (A) 5 Gee (pinna)
(A) Pinna (B) T & T
(B) Tympanic membrane (©) TSTHR Ty
(C) Oval window (D) Foftad
(D) Cochlea
72. HRITEA WS (tectorial membrane)
72. Where is tectorial membrane found? EXRIRIS I
(A) Inner ear (A) 37d: 9 §
(B) Outer ear (B) e =9 &
(C) Middle ear (C) wea i
(D) Brain (D) Temm #
73. Which structure separates the scala 73. @Wﬂ W 8 W s B A
vestibuli from the scala media? HERT ST T 77
(A) Tectorial membrane (4) R e (tectorial mem-
(B) Basila membrane B ;:;e;'éq
(C) Organ of corti o st ————— =
(D) Reissner’s membrane (D) Feord
74. What is the range of resonance 74. T F H W 3""?&1 £ & g

frequency of middle ear?
(A) 800 Hz-1200 Hz

(B) 200 Hz-500 Hz

(C) 2000 Hz—4000 Hz

(D). 120 Hz-240 Hz

(range) F A 87

(A) 800 Hz-1200 Hz
(B) 200 Hz-500 Hz
(C) 2000 Hz-4000 Hz
(D) 120 Hz-240 Hz

8102/ND-RRA/RCE-E/9-A
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75.

76.

77.

The most common cause of
conductive hearing loss in young
children is

(A) meningitis

75. B d=l W VEEHHE FEU WfRh

(conductive hearing loss) & B 1
3 HROT B

(A) AfErss s

(B) rubella

(C) herpes

(D) otitis media

In the condition of presbyacusis,
hearing loss happens due to which
of these reason?

(A) General disease
(B) Ageing
(C) Meningitis

(D) Trauma in the ears

Which of these indicate sensori-
neural hearing loss?

(A) When there is an issue in the
middle ear

(B) When there is an issue in the
outer ear

(C) When there is an issue in the
inner ear

(D) When there is an issue in both
outer and middle ear

76.

77.

(B) ®eel

() witerd

(D) weeRot TN
Yeargagim i feufa & g0t & o6 ot
6 a5 T v T el }7

(A) T AT

(B) 39 s

(C) wfers =R

(D) M & ATEE

T ¥ - g9 dfem 9w @i W
oA 87

(A) 59 FF ¥ A AW § HE wwen

Bt 2

(B) 5@ HH & dEH WM H B AHEA
Bl 7

(C) 9 HH & aieh 90T T g Fuen
Bt 8

(D) & FH % STE IR 9Ly AT | qHen

Bl 3

8102/ND-RRA/RCE-E/9-A
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78. Which of the following is not a | 78. F=fufed # @ F-w s=t ¥ TW =1

peri-natal  cause of hearing Th THa-d HRYT TEF 87
impairment in children?
: (A) sHifRE
(A) Anoxia
(B) Genetic (B) =g T
(C) Neonatal jaundice (C) oSt Hifern

(D) Neonatal meningitis (D) TasTa Aftash S

79. Untreated hearing loss can result in

which of the following? 79. TN A TR W yw 7l ¥ aRumreey

Frafafga # @ SH-a1 gl & gear 27

(A) Feeling of isolation and

deperssion (A) TFME o FER H &
(B) & W ¥ HHt ST
(C) 9REm 7 It & |1y qEYe qery

(D) 3ugew wft

(B) Decreased work performance

(C) Strained  relationship  with
family and friends

(D) All of the above

80. Which one of these is a good way to
____prevent noise-induced hearing loss? —

o T T TSl A &7

80. T A HW-W WR-IRA yw @R R Ao

(A) Turning up the volume, when
listening to music

(B) Not to remove the ear wax
regularly

(C) Using ear plug if you are
exposed to loud noises at your
workplace

(D) None of the above

(A) wfia grd w9 aicqw s
(B) %M 7m & fafg v ¥ 7 P

(C) AR MY 31U FRIT W AN A=
% h N A §, A FE b @ H
TR AT

(D) e # ¥ A T

8102/ND-RRA/RCE-E/9-A
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81.

82.

83.

The most common etiology of | 81. Fi I &9aT W T T T HRUT B
hearing loss is
_ _ (A) e (B) EsHHUT
(A) trauma (B) infection
(C) drugs (D) heredity (C) iy (D) IR
Jybich of these source of Beafing | go. sw wR % w @w d § Fww
impairments is matche
Pl o e ol Avh ¥ Wy e a0% A
with its category?
’ A T 27
(A) Otosclerosis—Conductive
hearing loss (A) FUTHITST—IETEhT S0 T
(B) Build up of ear'wax— . (B) F B 1 i B o T
Conductive hearing loss
(C) Exposure to noise— (C) TR & ¥k H—JaTEgehid Haul i
Conductive hearing loss
D) JuaTRaga—dadt afet s@er g
(D) Presbyacusis—Sensorineural (
hearing loss
83. fifaRaa & & ®F-41 AW (Meniere’s)

Which of the following is not the

feature of Meniere’s disease?

(A) Recruitment causing intoler-

ance of loud sound
(B) Raised endolymphatic pressure

(C) Fluctuating SNHL,
vertigo, tinnitus

episodic

(D) Perforation in tympanic mem-
brane

% 1 1 e TE ¥7

(A) Fgeie & FHRU e AEW % A
g

(B) 3T:FUNGh S TG

(C) THo Wo THo Two, WM TR,
ffieq hr sifemrar

(D) Wt HsH | fogm
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84.

Early identification of hearing loss
can help in

(A) better development of speech
and language

84.

v g1 1 3t vgaH # Wew W gwd) §
(A) aToft T T BT SEaR T
(B) == % Hftrh e & guw

85.

86.

87.

(B) improving the academic per-
formance of the child

(C) reducing the effect of hearing
loss

(D) All of the above

Which of the following is not seen in
cochlear lesion?

(A) Intolerance to loud sound
(B) Recruitment

(C) Reduced absolute bone con-
duction

(D) Paracusis willisi

Medications that cause hearing loss
affect which part of the ear?

(A) Outer ear

(B) Middle ear

(C) Cochlea in the inner ear

(D) All of the above

For air conduction tests, masking is
required only when the difference of
hearing between two-ear exceeds

(A) 10 dB (B) 20 dB
(C) 30 dB (D) 40 dB

85.

86.

87.

(é) HET T % IHTE 1 HH HHT

(D) ST wt

FrafaRaa & & SF-w1 woitad &) § @@
GRS 11

(A) I sma * ufa srEar

B) fgie

(C) i e WaTeshe =1 ] Bl

(D) v fafesen

] T Ie9 A el g M 5 R
T 1 weifera wheelt 27

(A) HF T e Rewm

(D) 3T asft

Y e Weaw F T wifehn saw aoff
AETIH BT g, & A HHI F 9 G
FIHW___ ¥ e e R

(B) 20 dB
(D) 40 dB

(A) 10 dB
(C) 30 dB

8102/ND-RRA/RCE-E/9-A
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88. Which of the following is not a

89.

90.

91.

88. ffafad 7 & #F-w1 =gfm vk =

tuning fork test? gt 87
(A) Weber (A) AT
(B) Rinne (B) 3
(C) Bing | (©) fam
(D) None of the above D) E‘TQ?F» 4
nearing o0s can be. best evaluated | 89+ 7 TR 1 fofl o few
by T Yot ForerT 11 wehall R
(A) self-test (A) ATcH-T8eEe % TR
(B) case history (B) WWel % 3ideTE % gRI
(C) audiological hearing evaluation (C) feaiioEre savr Yot * T
(B)i Xsray (D) X-fomor % g
an dometer ttenutoris et o | g0, s s 0 4 o s e
true ab;)ut the sound pressure lgevel w feite 21 frafafen 3 @ SR
output of the earphone? T F @ T RN HSTge * = #
(A) It is constant across all e R
frequencies (A) Tz ad Wﬁlﬁ Tfert
(B) It is lowest at mid-frequencies (B) 98 WeA AGhi § Ta8 F9 3
(C) It increases as a function of (©) ;—5: e:ﬂgﬁ ¥ @jq;pf ?m*?ag
frequency e &
(D) It is higher at 4000 Hz (D) T 4000 T T T AR &
Szr: tone thresholds are plotted 01. B I s @) wife R s d
(A) pentogram (4) SR R
(B) electrogram (B) EREEEILAN
(C) lithogram (C) Teremmm =
(D) audiogram (D) SHESID IR
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92. Which of the following disorders can 92, Ffafga fwdt & 3 frg AR =

be diagnosed by a procedure called Fafem saw il Tms s =
delayed auditory feedback? Frem foram <trar 27
(A) Tinnitus i Ay Rfrm : N

(g) sype;'a;usis | © R
(D) Pseudohypoacusis D) YeredER

93. When the audiogram showing a
conductive type of hearing loss, 93. & HTSAUW YaEh™ @ 7y R @&

will indicate &, @ $F s

(A) impaired bone conduction and (A) m T WO W W a3
normal air conduction EES

(B) impaired air conduction and (B) @i 9 dagd W@ Wwry w@
normal bone conduction RCRe]

(&) %mpa%'red b'one condl,.lction and (C) wiiea & dagq w afios EIR|
impaired air conduction e

(D) normal bone conduction and (D) W?@W‘lﬂmaﬂm

normal air conduction

94. V&I Y9 & qrET S
94. Occlusion effect is not present in W 8

____(A) conductive pathology (A) FefFA Wﬁ
(B) cochlear pathology : (B) mWﬁ
(C) retrocochlear pathology (C) Wreifaerr Yoeish &
(D) wry feafin #

(D) normal hearing

95. ittt &ivF wIET B B

95. Interaural attenuation is more for

(A) high frequency (4) =1 g % fog
(B) low frequency (B) # g < forg
(C) mid-frequency (C) we smgfy % forg
(D) None of the above ' (D) 39 | ¥ *IE 7
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8102/ND-RRA/RCE-E/9-A 53 [ P.T.O.




96.

97.

98.

The accuracy of hearing screening 96. TN HAUl TN B ATey =ARKA H T
test is correctly identifying persons =1 A e ¥ fom w ymu whifer ol
having actual hearing loss is & AT &

(A} reliability - INBRELEGEIRE =

(B) precision (B) Y&t

(C) specificity (C) A ERILGl

(D) sensitivity (D) Gagefieran

During bone conduction testing, the [ 97. & Gag T % A 99 FE B Th

low frequency sounds appear louder
when the ear is covered, because of

(A) masking

(B) occlusion effect

(C) Stenger principle

(D) cross-hearing

Diagnostic audiometers generally

provide one-third octave noise for
use in masking pure tones. This

bandwidth is used bécause bands of
that width

(A) are centered at the frequency
range of normal speech

(B) encompass the width of a
critical band

(C) produce more masking than
pink noise does

(D) produce more masking than
half-octave bands do

98.

R < &, A 9 engly et wFET SR
el Bt B

(A) wifekT 6 a5 |/

(B) EU T A T A

(C) R Rrgr hit a8 ¥
(D) wig Teafar $i ase 3
Yaifie seu-vRead R {6 @

ekt § wm % T o-feee s TR
TeH R § | 38 Sefrgy o s foR s

2, Fiifh 39 W ¥ o€

(A) TR = i omah dm F HFRa
T §

(B) TF WEEqU de F MWW H wWHA
F &

(©) TEEh R E e # e e
TEGH W §

(D) sMA-15% S fK gam § Ak
ST JeM X §
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99.

A newborn did not pass their
newborn hearing screening and is
seen for diagnostic follow-up testing
of the following tests, which would

be the least beneficial for providing |

100.

diagnostic information about

hearing loss?
(A) Distortion product otoacoustic
emissions

(B) Behavioural observation audio-

metry

(C) Acoustic immittance measures

(D) Auditory brainstem

testing

response

According to ASHA recommenda-
tions, a child who is admitted in
neonatal ICU, should receive
hearing screening-at what age?

(A) 3 months
(B) 6 months
(C) 1 year

(D) Before discharging from the
hospital

99. TH 9G9I 4 YN TS HFv SR #i

100.

oRa T e iR 3uF e s @
g e st R fefafes o @
ﬁw-mqﬂaw%shm"ﬂﬁ%;aﬁﬁ

TIF TEQ W W F R e
ATYRES Y '

(4) fowie e sidewreies dimr
(B) Toeforra stfeodiem arifednie:

(C) ThRfees s Aord

(D) HAffeeht Im Ygui-w AR

‘e’ #fi Rt % SgER @ T= R
Tae Rrg-wraeft 1ICU & sweff e o 2,

ora 3u & 3uh) s5ur i Y w9 6 S
wTRe?

(A) 3 WA
(B) 6 9d
C) 1¥@®

(D) AT ¥ GR A qE
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1v3s

e

s 100 v %1 3ifkd FR F1 G

(1) TR e smEae—emnH, JAeAh U8 3132
T, (2) THIRATA e omg, fager Irgd,
e fem, P fom watER o mw
i@, (3) weEEl, (4) HAE, (5) T
e U e dfF, (6) ERme YW, (7) 9,
(8) Wfes wr, W TEAfE  TERHENE
anfeafesn, (9) wa tou Us Bhifm

R

fawm—I11 Y o 51-100
(1) T (10+2 dEw), (2) swEiEst (10+2
Sa) AR E, (3) Tieed e te R AT
T 3, (4) AT e smifes Hsamrh,

| (5) e b 2, (6) S A T wR
TEmfes fEud, (7) 9= St eade oy 3
wAf Weamd wdud, (8) weEe BN
R, (9) uwwmie wr o fafiwer Weawh
(10) Rrrmdt ‘
Fam—Iv JH Ho  51-100
(1) arde T fafd, (2) wEr Te vt s
=, (3) Rl e, (4) woquen o feaftn wta
T (5) el sty U8 fame

Tgen Wi sifEr € v gEa s (Rwm—I,
I, Iv) & @ e fw @ anu wefim @ -9 @
frelt w1 T W T Hi

39 yw-gfee § 100 TRgiE we faw T §) ame
¥ % 50 Y4 Ud fawg ¥ gefm 50 v §1 "W
9 ¥ TEI ¥ T W H 1 3% @ vy @ wafe
wwl ¥ ¥ I F 2 7% fuifa )

. Wt % I R T OMR IW-99 W siftkd |

. T T I BY Y 3 e AL

. et +ft o % SogaR T A W @ AEEA B
&1 v afsia 31 ‘
. OMR JW-U5 I Y40 G 997 Ul 15 S@mayr 7
/A e 98 v W @ s Mg W fieme el

’

s

N

;29U iftrepan o7 : 150
—Time—forﬁnarkirrg—aﬂ—l-eﬁ—quest‘rons—:—Q—hmﬂ arks 150
SET A|
e NOTE
1. This Question Booklet consists of followin
1. 38 yo-gfemr & famt wm & Parts : ¢
et W W T Ho 1-50 FIRST PART : General Knowledge
Q. Nos. 1-50
TEA AW
. SECOND PART
frwwr—I1 S Ho  51-100 Section—II Q. Nos. 51-100

(1) Anatomy of Eyeball—Diagram, Landmark
and outline, (2) Examination of eye, Visual
acuity, Distant Vision; Near Vision Examina-
tion of Anterior segment, (3} Con- junctive,
(4) Cornea, (5) Eye Donation and Eye Banking,
(6) Lacrimal Apparatus, (7) Lens, (8) Refractive
error, Types—Myopic, Hypermetropic,
Astignatism, (9) School Health and Screening

Section—III : ‘ Q. Nos. 51-100
(1) Physics (10+2 level), (2) Biology (10+2
level}—Specially human, (3) Hospital practice
and care of the patient, (4) Equipment of radio
diagnostic radiography, (5) Radio graphic
technique, (6) Knowledge of equipment for
___diagnostic_radiography, _ (7)_Must be
conversant with the following radiographic
photography, (8) Fluorescent screen photo-

graphy, (9) Equipment for miniature
radiography, (10) Cystography
Section—IV Q. Nos. 51-100

(1) Sound and Hearing, (2) Anatomy and
Physiology of ear, (3) Hearing Iloss,
(4) evaluation of hearing loss, (5) Early
identificationa nd prevention
First Part is compulsory. Choose any one
from Second Part (Sections—II, III, IV)
related your subject.
There are 100 objective-type questions in this
Question Booklet. 1 mark is allotted for each
correct answer related to GK and 2 marks is
allotted for each correct answer related to
subject.

2. Indicate your answers
Answer-Sheet provided.

3. % mark will be deducted for each wrong
answer.

4. Use of any type of calculator or log table and
mobile phone is prohibited.

5. While using OMR Answer-Sheet, care should
be taken so that the Answer- Sheet does not

on the OMR

7 WY, Fa% Gersd 98 WU 8 S|

get torn or spoiled due to folds and wrinkles.
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